49
ME
AR EE AHQIEIA AR

M 072

AR OIAEF
AHQIE|A AR B3
ZotA8 O8], ey

HH.

K1241.02500 2! K1241.12500
HM2 H=d o2 tlE E SZ2§.
HMIAE]:

K0688

K0689

K0690

K0101

K1442

K0102

K0103

K1443

K0104

K0106

K1441

K1431

K1241.01000 e

K1241.11000 Ty K1241.02500
K1241.03400 / /

L H
t G O &
EYE=S t“
B 0 R

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



[ ]
3l =2 eHiz A 5] A dF AMSi =2 Il Al =
2 ST ~EHE U TS ST ALE
=5
-
K1241.05000 E;iﬁ Eb
" \ i
I
@ D
‘“1; O
'-=n7 HY)
A
=5 g9
Fout ol XX ST ATIE ZEF TS 2 eI
FEHS 2 xHE PEE £ 2lehol 77 g9 =3 2 2 3T =R
=& 2= T 2 FH F1 F2 F3 F4
N N N N
K1241.01000 AEl 2 96° 78° 80 500 1000 250 500
K1241.02500 AE 1 93° 76° 150 1200 2500 400 1000
K1241.03400 AEl 1 90° 72° 200 1400 3400 800 1900
K1241.05000 AE] 1 90° 72° 250 2200 5000 1100 3000
K1241.06000 AE 2 94° 80° 250 3000 6000 1200 3200
K1241.11000 AHQIBA AR 2 96° 78° 80 500 1000 250 500
K1241.12500 AH|IQIBA AR 1 93° 76° 150 1200 2500 400 1000
FEHS =4 & A A1 B B1 B2 B3 B4B5 C Cl1 D H L L1 L2 M
K1241.01000 AEl 135 25 168 27 93 53 - 2 19 95 52 385 112 37 228 M5x40
K1241.02500 AEl 26 38 28 40 11,2 6,2 22 2525 14 55 521 173 61 375 M6x50
K1241.03400 AEl 26 42 31 47 15 9 26 3 34 175 66 665 225 79 48,6 M8x60
K1241.05000 AE] 412 59 43 59 194 114 39 4 45 23 8,7 90,1 277 108 729 M10x80
K1241.06000 AEl 412 66 413 67 232 132 - 5 59 26 8,7 1104 308 128 87,2 M12x100
K1241.11000 AE|QIYA AE 135 25 168 27 93 53 - 2 19 95 52 385 112 37 228 M5x40
K1241.12500 AHQIYA AR 26 38 28 40 11,2 6,2 22 2525 14 55 521 173 61 375 M6x50
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



